3.3 Practice Solutions

Directions 1-3: Which segments/lines are parallel. JUSTIFY your answer.
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Directions: Find the measure of the indicated angle that makes lines u and v parallel.

4) 5)
“ / Yy 930[ ¥
/120° L
/ ﬂ' RLOtlQb @
°
6)

A4

]
<
L

Directions: Find the values of x that will make lines v and v parallel.
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Directions: Use the following diagram to determine which lines (if any are parallel). State the postulate or
theorem that justifies your answer.
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Complete the following flow proof.

Given: 21 and ¢3 are supplementary

Prove:a || b
21 and £3 are supplementary /2= 3
a. G.DJ ) —p| Supplements of the same anlge are
congruent
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